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The limit of proportionality is applicable more i case of ) e b
» (b) Wooa .

(a) Concrete (d) Mild steel

(c) Castiron

re fixed, the buckling load

The buckling load of columa pinned at both ends is 10kN. If the ends a

changes to
(a) 40kN (b) 25kN
(c) SkN () 20 kN

Toughness of a material is its abilily 1 absorb energy in

(a) Plostic range of matertal (b) Elastic range of material

(c) Ultimate range of material (d) Strain hardening range of material ;_,-_T_-
The point in the stress-strain curve al which the strain increascs considerably without any é::
increase in stress is called the Eg

o . . =Q

(a) The limit of proportionality (b) Elasticity limit =2

(c) Upper yicld point (d) Lower yield point =
The principal stresscs at a point in @ stressed body are 150 KN/m? (tensile) and SOKN/m*
(compressive), then maximum shear stress at this point will be

(a) 100 kN/m* (b) 150 kN/m*

(¢v) 200 kN/m’ ; (d) 250 kN/m"

For the beam shown below the reaction at A wiH ber, S 3 =‘ s i
=P s
A a B
A I LR
§ »< =yl
e T L 3
-—
Pa : 2Pa =
2 b) — =
@ — (b) T s
P 4Pa =
© = i g
2L L ==_=
The Young's modulus of a mawerial is 210 GN/m? and its modulus of rigidity is 84 GN/m?, its =

Poisson’s ratio is :
(a) 0.20 (b) 0.30
(c}y 025 (d) 0.15

A simply supported 400 mm deep and 200 mm wide timber beam can carry over a span of 4 m. If

the maximum permissible bending stress for the timber is 2 MPa, the maximum uniformly
distributed load is

(a) 6.54 kN/m
(c) 5.34 kN/m

(b) 7.54 kN/m
(d) 8.34 kN/m
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9. Which of the following steel section has highest structural cfficicncy
(2) Channcl Seeiin (b) T-scction
(c) Angle section (d) 1-section
10. lzfsconcr?t:dhas‘ !9 be mac"le for casting a beam having dimension 200mmx=400mm, clear cover of
mm and minimum distance between bors is 75 mm. What is the maximum nomina! size of
aggregate that can be used in the concrete inix design
=
= (2) 40 mm (b) 30mm
EE (c) 20mm (d) '0mm
B s ;
“.‘EE A squar¢ cojumn section of 3'00mm‘30()mm is reiforced with four stecl bars of grade Fedls,
= ca;ﬁ of 25 mm d‘aalmclcr. Using M25 concrete mix, an axial load on the column section with
= minimum eccentricity as per IS 456:2000 using limit state method can be applicd is
(a) 1445.95 kN (b) 142632 kN
(c) 1623.64 kN (d) 1601.55 kN
12, The maximum diameter of reinforcement bar in slabs as per 1S:456-2000 should not exceed
(where 7 is the thickness of the slab)
(a) l/z (b) r/6
) (© Y 4 (d) t/e
13. AE Transverse reinforcement in column is provided for the reasons
gE (a) 1o prevent buckling of longitudinal bars (b) to resist diagonal tension duc to
f% transverse shear
= (¢) to impart ductility (d) all of the above
14 =ma spirally reinforced column substantial ductility is achieved prior to the collapse of the
column. The coliupse ultimately takes place when the spiral reinforcement
(a) yield in tension (b) fails in shear
(c) fuils in bending (d) fails in compression
15. Centre of the Mohr's circle lics at origin if ;
(a) the principal stresses are both tens™ > (b) the shear siress is zero 54
(c) the principal stresses are both (d) the priru:ipal stresses arc cqual and Es
eompressive apposite =
, =
Match the following : =
| modulus of elasticity A.  Compression members
2. net area of section B. Tension members
3 gross arca of section C.  Bending members
4. modulus of section D.  Steel
(a) 1-D,2-B,3-A,4-C (v 1-C,2:D,3-A, 4B :
(€ 1-,2:C.3-A,4-B (d) 1-A,2-B,3-C,4-D f
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17. Splitting or shearing our of plates occurs when
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(a) rivets are strongest than plates

(b) rivets may have been placed at 2 lesser end distance that required as per code
(c) rivets arc crushed around half the circumlercnee

(d) plates are stronger than rivels

18 In an I-beam the shear foree is primarily resisicd by
;_: (a) whole cross-section (b) top flange
é% (c) webonly (d} bottom flange
19@% A truss which undergoes rigid body translation for @ an arbitrary load is called a5 a
_?: (1) determinate structure {t' statically unstabie structire
= (c) slatically stable struciure {d) gcometrically unstable structure
20. A plate used for marking of holes or joints in structural fabrication is called as a
(a) template (b) gusset plate
(c) Dbase platc (d) shoe plate
21. Unsoundness is cement is duc to
b i(a) free lime and magnesia (b) sivhca
E (c) iron oxide (d) alumna
22, gg An arrangement supporting an existing structure by providing suppors undemeath 15 known #5
8= (1) lifting (b) underpinning
.,\% (¢) scaffolding (d) jacking
23. v As per Indian Standards, the door d d as 10DT20 means
(a) A single shutter door of Tm*2m (b) A single shutter door of 2nm=im
(¢) A double shutter door of 2rm*2m (d) A double shutter doar of 1m>2m
24. Match List-1 with List-11 and select the correct answer code
List-1 Last-11 1
ets in pai ace Due to =
=
A. Blistering | Poor workmanship 7
e B, Flaking 2 Excessively thick paint -é:
= C.  Flashing 3. Pooradhesion =
o - D. Wrinkling 4 Entrapped water vapour
gg codes
ﬁg (@ A4 B3 Cl1 D2 (B A3 B2 C4 D
E () a4 B2 C3 DI @ ‘A B2 OF D4
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25. 'l(i the brick masonry bond consists of three stretchers and one header in every coursc, the bond is
nown as S L ‘
(a) English cross bond (b) Engiish garden wall bond
(c) Flemish double bond (d) Flemish garden wall bond
2 o ailv O M o 11 <
26. The daily per capita consumption of water apparently increases with
= ! Higher standard of living of the pcople
g 2 Availability of sewerage in the city
E.E_ 3. Mctered water
éz 4. Wholesome and potable water quality of water
- —4

(a) l.zZzand3 (b) 2,3and4
(¢) 1,3and4 (d '.2and4
27 The controlling design parameter in the design of all settling tank is
(a) depth (b) overflow rate ¥
(c) detention ime (d) percent removal of suspended solids
28 Which of the following is also known as tree system of water distribution ?
E (a) dead end system (b) grid iron system
i (¢) ring system (d) radial system
g= . :
i — I'he settling velocity of inorganic particles 1n a sedimentation tank of water treatment plant is
3 — govemned by
= (a) Dupit's ciw ) Stoke' '
(¢) Darcy's Law (d) Chezy’s Law

30.
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The most widely used pump for lifting sewage water is
(@) (b) Reciprocating pump
(c) (d) Air Pressure pump

An earthquake acceleration of 0.1¢ acting verticall

Centrifugal pump
Ppeumatic pump
y downward causes in a gravity dam

(a) an increasc in the weight of dam by 10%
4 reduction in the unit weight of concrete only by 10%

(b)
(c) adeereases in the unit weights of concrete and water by 10%
(d) increase in the uplift pressure by 10%

|n a Sarda type canal fall, the encrgy dissipation is by
(b) friction blocks only

d by baffle blocks (d) awater cushion

1500 hectares / cumec, then th

(a) afree hydraulic jump
(¢) hydraulic jump assiste

If the duty for a base period of 120 days is

be
(a) 660 mm (b) 665 mm
(¢) 690 mm (d) 680 mm
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The discharge through a trapezoidal channel is maximum, when

34.
(a) half of 1op Widlh.‘ S‘OPins. Sidf (b) top width = halfof sloping side
(c) top width=1.5times sloping sidc (d) top width=2.5 fimes the sloping side
35 The difference in pressure head. measured by a mercury water differeatial manometer for a 20cm
difference of mercury level will be
_ @ 2.72m (b) 252m
= (¢ 20m (d) 02m
3(,@-—; Conlinuity equation
‘3% (a) express the relation between energy and work
= b relate the momentum per unit volume for two points on a strzamline
= (c) relutesmassrate of flow along a stream fube
(d) constant discharge through a fong straight tapering pipe i
37. In a viscous flow through a pipc the Reynolds number is 100. The Darcy-Weisbach friction !
factor f for this flow is ‘i
(a) 0.64 (b) 0.02 i
(c) 0.04 (d 0.16 H
=
33, = Theratio of actual discharge to theoretical discharge through an orificeis
- (@) CcxCv (b)) CexCa
gé () CuvxCa (&) co/Cv
;'E Where Ce, Cd and Cv are cocfTicient of contraction, discharge and velacity respectively.
39. = A flood wave in ariver is an example of
(a) steady, non-uniform flow (b) unsteady, gradualty varied flow
(c) steady, spatially varied flow (d) unsteady, rapidly vaned flow
40. A pivot static tube is used to measure
(a) velocity head (b) the undisturbed fuid pressure
(c) the total head (d) datum head
4l. The hydraulic grade line is
(a) always above the cocgy grade linc
= (b) thevelocity head below the encrgy grade line
= (c) always above the closed conduit
32 (d) alwayssloping downward in the direction of flow
Bam | o i
oI Sprinkler irrigation has the advantage
= (a) Of providing more wniform distribution of water and avoiding erosion on sloping lands

(b) the initial costis high
(¢) Wind velocity cause non-uniform distribution of irrigation watet
(d) Design requires good technical knowledge

7
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g anal crosses drain with following levels e
: 52 Which of the rocks cannot be used us ballasts under the sleepers ?
C.B.L. (Canal bed | szin L (b) quartzite
R evel) =100. > basal ’
F.S.L. (Full supply level) = 102 5000 5 H.F.L (Highest flood level) = 100.75m {e)5itamalt (d) shale
Widare 22 Bed Level =98.00 m 53, Wha will be the expression for sleeper density for a broad gauge track, if 19 slecpers are used
e, of the following hydraulic structure il barenes X ' under a rail length  the length of ruil for broad gauge track is 12 8m
= (@ Aqueduct s ructed at the crossing @) n+7 ®) nt4
o K ( 5 = i
== (&) Siphon agueduct ) Super-passage = (¢) n+6 (&) n+5
&= (d)  Level crossing = here ' is the length of rail in meters
44‘ ¥ The hydmulic ot EE where "n’ 1s the length 01 il melers.
:g ure constructed to lower down tlie bed level of canal is known i EE : ' '
= (@) Fall * S W ias 54.8= Continuous girder bridges have the following advantages over stmply supported girder bridges
= (O GuideBon d) (S:ru.ss regulator § {a) depth at mid span will be much smaller
i x (d) Spur = (b) girdersdo notrequire unyielding foundations
45. If the canal is taken below the drainage and the flow i i = it ot s ; P !
called - 8€ 0 the floww m the canal is open channel flow, then it is 5 (C) piers are Narrower as at each pier as only One beanng 15 needed
Bkt o (d) quality of steel and concrete reguired is less resulting in reduced cost
a queduct =
(c) Canal Syphon (b) Syphon Aqueduct = Which of the above statement is incorrect ? =
3 (d) Super-passage g? Pk th %
. o SN S - 53, ick the incorrect oplion =
46. The function of expansion joint in a rigid pavement is to = ; ; % . : =
(a) Reli i = (a) IRC class AA loading consists of cither a tracked vehicle of 700 kN or 2 wiseeled vemicle =
8 B Eexe shrinkage stresses (b) Relieve working stresses = of 400 kN
LE (c) [Pesist stresses due to cxpansion (d) Allow free expansion E (b) the tracked vehicle simulates a combat tank used by the zrmy
47%2 Banateatian res | Stahce 1estan bitimentis ucedito/determineils EE (¢) structure designed for Class AA loading should also be checked for Class A toading
I= = P 2= (d) structured designed for Class AA loading need not be checked for Class A loading
= (a) Grade (b) Viscosity o=
= (2 Ductility (d) Temperature susceptibility 56. = Choose the incorrect statement
48. The maximum limit of water dbsorption for aggregate suitable for read consiiucun is ) The fudlslal u_ige > mlmcé 5 ahdadé - ;
: (b) Exact orientation is more important in plane tabling than accurale centening for small-
(a) 0.4% (b) 0.6% i scale maps.
(c) 08% (&) 1% (c) Plane table is most suitable instrumet for large scale survey
49. The flexible pavement distribute the wheel load !l {0) Planctable sorny 13 best for tempesle cOREES
==
(a) (hrough a set of layers to the sub-grade (b) directly to the sub-grade Ei 4 57. In reciprocal leveling, the error which is not completely eliminated is due 1o
(c) through structural action (d) through structural action of the multiple layers i! (a) earth's curvatare (b) non-adjustment of line of collimztion
: . = -adj fracti
50, IRC recommends that dowel bar system in rigid pavement may be 'dGSIgucd on the basis of ! () non-adjustment of the bubble mbe (d) refraction =
. Bradbury's analysis for the load transfer capacity of a single dowel bar in = 58, E Which of the following erors can be eliminated by taking the meas ol hoth face observanens =
E (a) shear, bending and torsi n (b) shear, bending and com?rcglon _.;==_ (- Error due lo imperfect graduations
EE (c) shear and bending only (d) shear, bending and bearing inconcrete §§ (b) Emor du (o eccentricity of verniers
a= ; v | ¢= (¢) Emorducto imperfect adjustment of plate levels
int ‘Db’ he sleepers is given by the formula = ; i _ : v :
SI'EE Minimum depth Db’ of ballast section under ¢ 4 4 S+w E (d) Erordueto fine of collimation not being perpendicular o the horizonal axis
- S—w Gl =
= @ e () 2
S
Sxw i
© 5 @ w—2

Where ‘S’ is the slceper spacing, ‘W’ is the width of sleeper
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59, Find the height of' a Tee-beam above the floor level. The R.L. of the Noor is 100.855 m and the

staff reading on the floor is 2.055m. The reading on a stall held upside cown against the
undgrside of the beam is 3.565 m

582 m
(d) 544m

{(a) 562 (b)
(¢) 6.66 n

(1) Plotting included angles and scaling off the individual traverse leg

c‘-\»; C oo "WJ
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66 A normally consolidated clay settled 1 cm when effective a pressure was in § from 0,10
MPa 1o 0.20 MPa. If the effective pressure is further increased from 0,20 MPa 10 0.40 MBs. ten
settlement of the same clay is

(b) 2cm

(d) Bem

(a) tem
(c) 4cm

60. T'hcdpuc:! _applied al the time of measurement is more than the pull applic | at the time of 67. = A soil has a bulk aensity of 22 kN/m? and water content 10%. The dry density of the soils is
S ?n’ GTNIZJI:.L?D. the currection will be g @ 16kN/m’ (:) ;g kN/m-;
a cgauve dasitive i «N/m"’ 2 kN/,
(c) No Correction ;:; L(;:;;j:e & Positive botl gg e : - . m. .
; : 68 .83 Which of the following 1s not a assumption of Terzaghi’s onc dimensional consolidation theory?
6. Match List—T with Lisi—IT and select the correct answer code T= (a) Thesoil is homogeneous (b) The soil isotropic
List—| Ll = (c) Darcy'slaw is valid (d) The soil fully saturated
A. GTS benchmark I. Fixed by a survey teain at the end of ¢ y work = 69 As per Indian Standard soil classification. A soil with both liquid limit and plasticity index be
B. Permanent benchmark 2. Fixed by survey of India Ez ‘ 30% is classificd as
C. Arbitrary Benchmark 3. Fixed by State P.W.D. =1 @ CI (b) MH |
é) chmpmar_v Benchmark 4. Fixed by a survey tlcam in the heginning of a project Eg (c) OH (d) CH ;
Code : = i
= _ liquid limit—wate tent, ;
= (8 A-3 B-2 C-4 D-I (b)y A3 B2 C-1 D4 — 70, == The f'a‘“flqm Pll:?uc;’:;m;::n =
E=ENAS B3N o P (d A2 B3 C4 D} = @) Liquidityind i Shoikgesig
= .= (3 Liquidityindex
62. %E Which of the following pairs is not correetly matched gg () Consistency index (d) Toughness index
n= e T Sl el SR a= : 2
S_E— EZ; I;ccl;r?al;:n | ,EHo?zm;atLa:jlc l()c:wcicn Magncl‘{c n:cmtaln Ry e tridian 71 §§ Degree of saturation of a natural soil deposit having water conient 15%, specific gravity 2.5 and
= owditch’s rule :Employe: ljust closing error of a closed traverse = voids ratio 0.05 is
= (c) Deflectionanglc : Mcasured in case of open traversc instead of measuring included angle = @ 50% g (b) 60%
(d) Reconnaissance S :vey : Employed for detailed and precise Survey © 75% (d) 80%
63 n eicotarenrye ha.s_a 200m racfius and 65°C deflection angl;._w;x;(t)is i§ ::fl: c:alzz'qarc Stion 7w The hydraulic head that would produce a quick condition in a sand stratum of thickness |.5m,
and by chord definition, Assuming a 30 m chord length and R = min 5eS specific gravity 2.67 and void ratio 0.67 is cqual to i
(a) D=7.595°, 8.595° (b) D=6.395°, 6.395° = @ 19m () 15m i
(c) D=28595°, 8.595° (d) D= 8.959°, 8.959° E (¢ 20m (d) 25m g
Sy ; = H
64. Which one of the following eliminates the error due to curvature and rc.fracnon = 7. Accurate determination of water content is done by :
: o : £ =
(a) Fly leveling (b) Leveling by cqualizing the distant of 51 (a) Calcium Carbide method (b) Sand bath method i
0 back sight and forc sight =/ = (©) Alcohol method (d) Oven-drying method !
= : 5 = E » El
= () Check levelling (d) Precise levelling s, 24 gg The shear strength of soil
- i . =
P sble i dolite traverse is b ! S= e : o o
65. §=_='= The most reliable mcthod'()f plomn's a. 1jh°° ; b4 : §§ (a) isdirectly proportional to angle of internal friction
Eg (a) Consccutive coordinates of individual sta'uon » "% (b) isdirectly proportional to tangent of angle of internal friction
= (b) independent coordinate of individual station § ":: (c) ininverscly proportional to angle of internal friction
= (¢) The tangent method of plotting (d) isinversely proportional to tangent of angle of internal friction

11
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7S. The active
i earth pressure of a soil can be defined as
ateral pressure eox Srle rthe soi A
e ba i cried by the soil when he retaining wall has no movement relative 1o
(b) lateral press
ure exerted i ini
B i :y the so_ul when the retaining wall tends 10 move into the soil
- Y the soil when the retaining was tends to move away from the
= (d) pore pressure in the solid
= —] P
7(,,‘21;E Number of covalent bonds present in butane are
2= (@) 10 (b) 1t
= (c) 1
~ ; (c) 12 (d) 13
77. = PAN, a secondary pollutant is known as
(a) Peroxy acrylonitrile (b) Pcracetyl nitraic
(¢)  Perhydroxyacyl nitratc (d) Pcroxyacyl nitrate
78, The corrosion is
(a) An electrochemical phenomenon (b) An clectrolytic phenomenon
(c) A decomposition phenomenon (d) A displacement phenomenon

79. & Which of the following is not an alloy of copper ?

;% (a) Brass {b) German silver

§E (c) Bronze (d) Solder

i= g
£0. E 1°Fr is equal to

= (a) 100 ppm (b) 0.7°Cl
(¢) 0.02 meq/L (d) 1 mgL 4

81, A pH value less than 5 represent

(a) Acidic condition
(¢) Basic condition

(b) Neutral condition
(d) Slightly basic condition

82. The caiorific value and hardness is highest in

(a) Peat
(c) Bituminous Coal

(b) Lignite
(d) Anthracite

83. E Dacron is formed by condensation polymerizz_uior.m of y
"E (a) Terephthalic acid dichloride and 1,3-diamino benezene
gg (b) Butadiene and sytrene B
= (c) Hexamethylcnediaminc and adipic acid

g (d) Ethylene glycol and Terephthalic acid
84. Rate of corrosion is highest in
(@ Mg ® Zn
(c) As (d) Pt

o ——

LT AR B I TR

#5.

K6,

87.

bt

90.

91.

TR T HTE
138095313

The critical angle of a cenain medium is sin '(3/5). The polanising angle of the radium is
(a) sin '(4/5) (b)
(c) tan '(3/4)

tan '(5/3)
(d) tn '(4/3)

Two 1000 W heater when connected in paralle! across 220V supply produce heat H, in time t. (F
they are connected in series across the some po ver supply the heat produced in the same time 15

= Ha Whatis (Ho/ H))?

= (@ 025 (b) 4
§= © 05 ) 2
a= s
©= The hali life of 2 radioactive substance is 140 days. After how much time 15 g will decay from
“E its 16 gm sample ?
—
= (a) 120days (b) 240 days
{c) 380 days (d) 560 days
The displacement y (in cm) produced by a simple harmonic wave is given by
N ¢ X
y= (?)sm 2000 Knt - F)
The periodic time maximum velocity of the particle is the medium will respectively be
E (a) 107 secand 330 ms (b) 107 sec and 20 nV's
S= (c) 107 sec and 200 mfs (d) 107 sec and 2000 em/s
g=
= particle exceutes SH.M. of ampiitude A If Ty and T are the ime taken by the particle 1o
R — o
“= traverse from 0 to 2 and from%m A respectively. then (}-‘-) will be equal o
= 1
W) (b) '2‘
1
£ @ 2
(c) %

The energy of a system is 81 J. The units of force and length are made three umes of their initial

values. The energy of the system in new units will become
(@ 9 (b) 81
(c) 243 (dy 729

Determine the current I for the given network

B : r—-{ S
&= 3 -|s> ESAe8 & f——0nr—a (0¥
= 5
= 15V ! 2%
u= ==

= ] D l

T @ 14mA (b) 20mA

(c) 1.8mA (d) 24mA =
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CENTRE




f' T
380153
LT 1
1380153-14

a e
100.  The valucof lim 2%°1 tan (2;) is equal to

92 It the work donc in blowing a soap bubblc of volume V is W, then the work dene in blowing a
soap bubble of volume 2V will be 1 b 3
. a = :
(a) W (b) 2w @ 2 (d) 2a
(© vaw (@ @'"0w (o)
93. The value of cos10° + cos110% cos130°is
= (a 0 =
= (‘) : (b) 1 =
A= el (d) 3 =
g= &=
= a=
94. ;‘E The I -16 G f;—=_.
g ¢ polar form of the complcx number oA s : =
= 2m 2n 2n 2n : -
= () 8( s——"—) L s ; =
co. 3 isin 3 (b) 8(cos 3 + i sin 3 =
n b3 g T =
8 e lC s E
(c) (cos 3 Lsin 6) (d) 8 (cas 3 + i sin 6)
95, If the sum of an infinite gecometric series is 15 and the sum of the squares of these terms is 45,
then the scrics :
(a) S+m+20+40+ (b) 1+5+10+20+ g
= 3“9 57 3 20 =
= @) T053 g2 @ 1 +ARad + =
g= T 379%% %,E,
8= e S
96-3_'=f I Z, and Z» are complex numbers such that ,-—:’_;;’l =1 then |z;| # 1 then |z is u§
= 142 E
= {1 3 vy -3 =
(c) 3i (d) —3i
97. If d is any vector, then the value of X (@ X 1)+jx (@xj)+k x (dx k) is A
(a) a (b) 2a - =
(c) 3d @ 0 =
=
98. If the vectors d,b,¢é are the coplanar. then the scalar triple product [@a+b, b+C, E+d]is = =
= equal to § =
= 0 ® d+b+¢ o=
g= % N (d) None of these 53
2= (©) 2(@+b+0) 2=
= 4
== =
—_ =
= (‘ d =
= g & Lo at x=a,lis
9. = |fy J; + [ then 2
1
@ 0 ) ;3
: (d) V2a (8

ALIGARH COACHING
: CENTRE

\ -3




N FY «‘tl(,.-\
<f 2020-21

RH MUSLIM UN

o) , ALIGA Tes
— , : Answer Key BE( CIVIL ) Admission | ALIGARH CORCHING
- - ' ig_lﬁ_llé_ﬁ CENTRE
- rEme Al [(aNe. | Aneued
[ QNo. [ Ansver) S Rl A
] D e = —a |
e N s —— T
_,,,;._.-p-’/—\——‘ T G 83 ____D——-——
v e o
[ ] 45 D 85 P
5 A ——rt %6 B
e R 46 D | 86 1
___—-——-————E‘—‘ 47 A 87 D
_._;_-—_--C——~ St ae e 88 C
B s TR
e T | 90 A
T [P 10 4 e
i 0B 5 | TR (S
2, D 52 D e W L
13 D 53 C R e
14 0 54 B g 3. 0
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17 B 57 D 97 B
18 G /53 D 98 A.
19 B . 59 A 99 A
20 - A 60 B 100 B.
21 A 61 C :
22 B 62 D
23 D 63 C
24 A 64 B
25 D 65 B
26 D 66 A COORDINATOR
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